SWER SEEAR

There are many combinations that are correct. Below are two examples of correct responses:

The young sheriff walked into the clean The tired sheriff walked into the dirty
stable. He put the brown saddle on the best stable. He put the worn saddle on the old
horse. He would ride to the small ranch in the horse. He would ride to the distant ranch in
light rain to see the pretty lady. She might the cold rain to see the rich lady. She might
know where the evil cowboy had gone. know where the big cowboy had gone.

Appropriate adjectives for each blank:

The sheriff He would ride to the ranch
old pretty big nice old evil cold huge
young mean small rich dark big warm best
dark evil tired poor sad small large

bright dirty black strong pretty distant nice

sad clean cold huge

happy gentle large

walked into the stable. in the rain

old pretty big large dark gentle soft warm
dark mean small nice sad big slow nice
bright dirty cold huge dirty small fast strong
sad clean warm best clean light cold huge
He put the saddle to see the lady.

old pretty tired nice old pretty small nice
young mean black strong young mean tired rich
dark dirty brown huge dark evil black poor
bright clean soft best bright dirty brown strong
sad big cold sad clean cold huge
glad small warm glad gentle warm

happy light large happy big large

on the horse. She might know where the

old evil black nice cowboy had gone.

young dirty brown poor old mean tired rich
dark clean soft strong young evil black poor
bright gentle slow huge dark dirty brown strong
sad big fast best bright clean cold huge
happy small cold sad gentle large best
pretty light warm happy big nice

mean tired large pretty small
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